Efficiency vs P,

0.5

o
€20.45
3
2 04
[}
(&)
20.35
[J]

©
w

RN R R LR RN R RRRRN RN RARLE RARLN LRRRN LARR

0.25
0.2
0.15
0.1
0.05F,

Ratio
= =l
HR (=)

iy

i
m
+
"
4

=
o
iN

1

2 3
Hp. (Gevf
—a— DOV_TT ORIGINAL

—e— DQM_TT__MODIFIED_|ayerProcv2
—— DQM_TT__MODIFIED layerProcv2_windows
—— DOM_TT__MODIFIED layerProcv2 windows_hits

= 05

[

>0 45|
0.4

0 35

efficiency

0.25

i
o
"

— -
— T
%

(o8 L AR R R

O J--G_. 111 +

T F 4 | 4

o g T 1+ - TEEETr 11+
BT T
-3 -2 -1 0 1 2 3



	Contents
	Page 1


